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Information for customers

Addressing income apportionment

We used a method called income apportionment to divide a person’s income evenly across 2 or
more Centrelink fortnightly reporting periods.

We incorrectly used this method for certain Centrelink payments. We no longer use it.

We paused some debt reviews and explanations of debts that may be affected by income
apportionment. We are now restarting work on them.

Go to servicesaustralia.gov.au/incomeapportionment for more information.

How we’ll review your debt

If we find your debt incorrectly used income apportionment, we’ll recalculate it using the correct
methods.

First, we’ll contact you to find out what income information may be available to help us to
recalculate your debt.

We may also contact your employers or financial institutions to ask for the information we need.
We won’t ask you to do this.

We know all the information might not be available. That's why the new method includes several
types of information we can use to recalculate your debt.

Our trained staff will use the best information available, in this order:

1. Payslips with daily income information.

2. Payslips that show when you got paid.

3. Bank statements where we also have other evidence of when you got paid.
4. Information we hold on record that you’ve reported to us.

Options 2 and 3 let us calculate your income based on when you received it. This is the same as
the current rules.

Using any of these methods will help us recalculate your debt lawfully.
Most people will still owe money after their review is complete.

For some people the debt may be reduced to zero. We may need to refund people who paid too
much towards their debt.

Once we've reviewed your debt, we’'ll send you a letter to tell you the outcome.

How long it will take

Restarting work on reviews and explanations will happen in stages.
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We have started contacting people about this matter.

We’'ll work with a small group first, to get the process right.

We'll start contacting the remaining customers later in 2024.

It will take some time for us to contact everyone.

You don’t need to do anything while you’re waiting for a review outcome or an explanation.

Your review and debt is on pause until we write to you to explain the next steps.

How we used income apportionment

We calculate Centrelink income support payments each fortnight. The income you earn in each
Centrelink fortnight affects your Centrelink payment.

In some cases, the Centrelink fortnight doesn’t match your employers pay period. Without
information about your earnings each day, we would use income apportionment to work out if we
paid you the right amount.

Here’s an example to show you how we used income apportionment. This example
isn’t based on actual payment calculations, it’s just a demonstration.

e Damien earned $1400 in his Employer Pay Period for 5 to 18 March.

o Damien’s Employer Pay Period doesn’t line up with his Centrelink reporting fortnight. His work
pay is spread across 2 Centrelink reporting periods; fortnight A and fortnight B.

¢ You can see that using income apportionment, we estimate Damien earned $100 per day.

¢ With more accurate information, we can see Damien’s exact earnings. This changes the amount
of the Centrelink payment Damien is entitled to.

Employer Pay Period (5 to 18 March)
Gross Income Paid — $1400

IA |$100|$100|$100|$100/$100|$100|$100|{$100|$100|$100|$100|$100|$100$100

Actual|$360($235| $0 | $0 | $0 |[$125($125| $0 | $0 |$325|$230| $0 | $0 | $0
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Summary Using income apportionment Using actual daily pay
(1A) information
Total income $1400 $1400
Fortnight A Fortnight B Fortnight A Fortnight B
Centrelink payment $600 $500 $600 $500
received
Employment income $300 assumed $1100 $595 actual $805 actual
earnings assumed earnings based | earnings based
based on IA | earnings based on daily pay on daily pay
on IA
Centrelink payment he $450 $120 $350 $250
should have got — based
on employment income
Centrelink debt $150 $380 $250 $250
Total debt $530 $500

Damien’s income is still the same. The difference is we now have more accurate information
and know how much he earned each fortnight.

With more accurate information we can recalculate the debit.

Damien will need to repay his debt, but it is now $30 less.

Damien’s debt is less, but some debts may increase after we recalculate them.



